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226. For a particular policy, the conditional probability of the annual number of claims given   
� = � , and the probability distribution of � are as follows: 
 

Number of Claims 0 1 2 
Probability 2�  �  1 3��  

 
�  0.10 0.30 
Probability 0.80 0.20 

 
One claim was observed in Year 1. 
 
 
Calculate the Bayesian estimate of the expected number of claims for Year 2. 
 
 
(A) Less than 1.1 
 
(B) At least 1.1, but less than 1.2 
 
(C) At least 1.2, but less than 1.3 
 
(D) At least 1.3, but less than 1.4 
 
(E) At least 1.4 
 
 

227. You simulate observations from a specific distribution F(x), such that the number of 
simulations N is sufficiently large to be at least 95 percent confident of estimating 
F(1500) correctly within 1 percent. 
 
Let P represent the number of simulated values less than 1500. 
 
Determine which of the following could be values of N and P. 
 
 
(A) N = 2000  P = 1890 
 
(B) N = 3000 P = 2500 
 
(C) N = 3500 P = 3100 
 
(D) N = 4000 P = 3630 
 
(E) N = 4500 P = 4020 


